Three

times table 4 x 3
practice 8 x 3 \ 3
5 X 3 12
10 «x 3 0
1 X 3 24
Draw a line to join the 7 x 3 6
questions to the 0 x 3 27
answers 6 x 3 30
2 X 3 9
9 X 3 18
\@6 \\ 3 x 3 21 /
7 X 3 = 12 X 3 =
5 X 3 = 6 X 3 =
2 X 3 = 9 X 3 =
8 X 3 = 4 X 3 =
3 X 3 = 0 X 3 =
11 X 3 = 10 X 3 =

1x3=3
2x3=6

See how quickly you can write
out the 3x table. The table
has been started for you.

I took seconds.
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4 X 3
8 X 3 3
5 X 3 12
10 «x 3 0
1 X 3 24
7 X 3 6
0 X 3 27
6 X 3 30
2 X 3 9
9 X 3 18
k 3 x 3 21
7 X 3 21 12 X 3 = 36
5 X 3 15 6 X 3 = 18
2 X 3 6 9 X 3 = 27
8 X 3 24 4 X 3 = 12
3 X 3 9 0 X 3 = 0
11 X 3 33 10 X 3 = 30
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